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PRESENTATION

Scientific background
- Math: discrete dynamical systems & fractals

- Modelling : systems biology
- Computer science: Knowledge representation

IRISA Laboratory

- Computer science lab of Rennes

- 800 employees, > 35 teams

- Seven departments, among which « data and knowledge

management »

Bioinformatics & systems biology group - "“?\\‘\Am_( ‘ i
- 2 teams and 1 platform (45 in total) ;;g ;o
- Dyliss team: symbolic methods for integrating and % brezia—

reasoning over large-scale heterogeneous data

& IRISA



Station Biologique
de Roscoff

A SIMPLE QUESTION FROM BIOLOGY:
WHY ALGAE NEED BACTERIA ?

~axenic

pressed elements

E. siliculosus In axenic condition...  Metabolic scale
[Dittami2014, Tapia2016] Fremy, Frioux, unpublished
Question: which bacteria (and how) allow algae to grow ?
& IRISA

C. Frioux, S. Dittami ...



OUTLINE

Underlying life science question: elucidate functions at the microbiological scale

Methodological question: How computer science can be useful ?

. Short historical reminder: from observations to discoveries in life sciences
. (Identification of) dynamical systems

Focus on the metabolic scale.

Reasoning over discrete dynamical systems

Knowledge representation : introduction to ASP

More insights on ASP

Back to biology towards more tricky problems

Still new issues

0N UAWNE

& IRISA



0O NNO U DS WN =

& :IRISA

Institut de Recherche en Informatique et
Systémes Aléatoires

1. From observations to discoveries in life sciences

. Short historical reminder: from observations to discoveries in life sciences
. (Identification of) dynamical systems

. Focus on the metabolic scale.

. Reasoning over discrete dynamical systems

. Knowledge representation : introduction to ASP

. More insights on ASP

. Back to biology towards more tricky problems

. Still new issues



DEALING SCIENTIFICALLY WITH NATURE

- Experimental science viewpoint (Starting with Plato, astronomy): the aim of science is
to propose hypotheses intended to save the appearances.

- The task of hypothesis building is provided by abduction.

- Demonstrative science viewpoint (Aristotle): the aim of science is to discover the

principles which would serve as explanations for the observed phenomena
(Aristotle).

- The task of discovery is provided by induction.

& IRISA
Source: https://www.ucm.es/data/cont/docs/481-2013-10-14-abductive.pdf



OBSERVING (19TH CENTURY)

@- L'Abécédaire du petit
naturaliste
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Charles Darwin,
Theory of evolution

Jeanne Villepreux-Power,
Founder of Marine Biology

Abduction is the process of inferring certain (...) laws and hypotheses (...) that explain or
discover some (...) phenomenon or observation; it is the process of reasoning in which
explanatory hypotheses are formed and evaluated.

& IRISA



EXPERIMENTING (20TH CENTURY)

Use experiments to prove hypotheses and generate discoveries

Louis Pasteur,
microbiology

rough strain
(nonvirulent)

mouse lives

smooth strain
(virulent)
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rough strain &
heat-killed
smooth strain
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mouse dies

Germaine Benoit,
Infectious diseases
(therapeutic molecules)

Deduction is used to take advantages of existing theories
- New theories emerge from incompleteness between former

theories and experimental observations

& IRISA



INCREASE OBSERVATIONS :
MOLECULAR BIOLOGY (2NP HALF OF 20TH CENTURY)

Develop new technological devices to
observe and experimental at smaller scales

© Hydrogen
© Oxygen

@ Nitrogen

© Carbon

© Phosphorus

Minor groove

Major groove

—> Acquiring data towards induction processes

& IRISA



GENOMES

We now have the capability to sequence the genome of organisms and samples in a few time.

ADN (Watson, Creek, Franklin)

Genome Sequencing
(Venter, Collins)

- Massive data to explore

Cumulative sequenced genomes
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TRANSCRIPTOMICS - PROTEOMICS —(...)

Measure the consequences of the presence of genes in species genomes

Metabolites

Gene mRNA Protein
PR
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nypll ‘71.
Epigenetic  Post-transcriptional  Post-translational

Mutauons i
modification modifications modifications
Metabolomics

Genomics
Patti et al. (2012). Metabolomics: the apogee of the omics trilogy. Nature
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Confront genomes with their observed consequences (phenotypes)

& IRISA



LIFE-SCIENCES DATA NIGHTMARE

s Four domains of Big Data in 2025:
COMPLEXITY complexity vs quantity

DNA sequencing, genetic profiling, genetic mapping, recombinant . .
DNA technology, structural and functional analysis of genome (|nsp|red by [Ste2015]) -
. Heterogeneity

RNA sequencing, Genomics Protein identification,
expression profiling, quantification, post-
transcriptional translational
regulation ) modification |ncomp|eten ess

Transcriptomics Proteomics

\ ASTRONOMY )

Study metabolite

Element rofiles, :

it Foemn Different scales of
biochemical | intermediates, granularity
regulation, “ hormones and

element

Phenomics

interactions

other signaling T‘A’ )
molecules Inter- L ( YOUTUBE ]

Evaluation of morphological, biochemical and physical traits, dependencies

establish link between genetic, epigenetic and environmental factors

UANTITY

17 PB/year 1-2 EB/year 40 EB/year

Data deluge
"9 Worst data that may exist (size

and quality)

Data-based induction : characterize diseases (imaging), diagnosis.

& IRISA



MASSIVE GENOMES ANALYSES

Strong deception: life-science complexity (species, diseases) cannot be explained by the
genome diversity

Limits of the reductionist approach
« Biology requires to examine the structure and dynamics of a

cellular function rather than the characteristics of isolated parts of
a cell »

IN OTHER WORDS: BIOLOGY IS A COMPLEX SYSTEM
... data-based induction discovery is far from possible

& IRISA
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2. (ldentification of) dynamical systems

. Short historical reminder: from observations to discoveries in life sciences
. (Identification of) dynamical systems

. Focus on the metabolic scale.

. Reasoning over discrete dynamical systems

. Knowledge representation : introduction to ASP

. More insights on ASP

. Back to biology towards more tricky problems

. Still new issues



SYSTEMS BIOLOGY

INDIVIDUAL SOCIAL NETWORKS
jpatnd

/R
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igenome Genome/Cistrome Transcriptome Proteome  Metabolom:

https://isbscience.org/about/what-is-systems-biology/
https://link.springer.com/chapter/10.1007/978-3-030-18601-2_8

Systems biology. Biological observations results from the superposition and the chaining ¢
multi-layer mechanisms.

> Biology is a complex (dynamical) system
» Produce predictive statements that can be experimentally validated (deduction) ?

& IRISA



MODELLING A COMPLEX SYSTEM

N@)=Nyer?

m x"(t) = — k x(t) R g
x(t)=Acos(wt + ) "

- v

Si, a partir du temps t; = 1, la croissance de
Systéeme masselotte-ressort. N se poursuivait a une vitesse constante

La masselotte de masse m est supposée dM (t ) égale a la dérivée en ce point, c'est-a-dire

) avec la valeur N'(t;) = N’(1). N croitrait
glisser sans frottement. 7 ) _— = S V ( M ( t ) ) linéairement pour atteindre, au temps t;
du support, égale au poids . dt =2, la valeur N(ty) + N'(ty). (ta-t)) = NC1) +
masselotte n’est donc soumise qu'a la

N'(1) . 1% 1061,36. Mais la valeur de la
dérivée N'(t) varie a chaque instant,
puisqu’elle est égale ar. N(t). De fait, la
valeur N(tz) = N(2) est égalea Ng e "2 »

1T Write differential equations 1061,83.

seule force de rappel 7, proportionnelle
la distance x a sa position a l'équilibre (ou

Solve differential equations

Describe mechanisms :
or simulate them

& IRISA

Source : https://interstices.info/systemes-dynamiques-et-equations-differentielles/



DYNAMICAL SYSTEMS

T x S — S
Historical motivation Model the evolution of the set of F: (t , 2 —  F(t,2)
components in a system according to time. (time , state) new state at time ¢
ax__k X)e1-Y
g
E= m—by f(Y)(—l—X
. Boolean model with
Parameterized
. asynchronous update
numerical System
scheme

Identification/calibration of a dynamical system Find the best function F which parcimounously
explains and describes the observed responses of a system.

& IRISA



MODEL IDENTIFICATION/CALIBRATION SINCE THE 18TH CENTURY

What has always allowed a model identification
> A priori knowledge about the (conservation/behavior) laws governing the system
» Predetermined shape for the function F

» Limited number of components
» Reduction of the search space

> Wide panel of sensors and perturbations
» Discriminate parameters

Where is the complexity ?

» The search space grows exponentially with the number of measured compounds

The more compounds we measure, the less calibrated a system can be.

& IRISA



EXAMPLE

Yeast cell cycle

| Budding Sister chromatid
- separation
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» DNA synthesis |+
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Graph model of interactions,
transformations and controls

Equations governing cyclin-dependent kinases
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Molecular Biold
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L
€l 2], = [ Clb 2] + [ Clb 2/ Sic 1. Clb 5], = [ Clb 5] + [ Clb 5/ Sic 1
Sic 1], = [ Sie 1]+ [ Clb 2/ Sic 1] + [ Clb 5/ Sie 1

Equations governing the inhibitor of Clb-dependent kinases
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Equations governing the Clb degradation machinery
[

Molecular Biology of the Cell
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Fitting of a numerical model (ODE)
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Simulation of the effect of mutations

Limitation: to add a molecule, we need to find many new parameters

& IRISA



FROM BIOLOGICAL FUNTIONS TO METABOLIC MAPS

Metabolic function
L irati llulai jie d duction d'énergi From genes
to functions

Dioxyde de carbone CO,
Eau H,0

ivités cellulaires
Noyau
iration cellulaire

|

H0000000C | Genome

AYLY.Y.FLY ’ Transcriptome ‘

translation

Molecules involved

transcription

|

in the function St p—

Biomolecular dynamical systems cannot be identified !!!

O Compound . Reaction

hosy

orus

S v(M(?))

Dynamical model
1500 reactions
2 parameters/reaction to fit



DIFFERENCES BETWEEN SCIENCES

Physics
» Knowledge
Fundamental laws

> Sensors
Numerous

> Perturbations
Controlled reactors

& IRISA



DIFFERENCES BETWEEN SCIENCES

Physics
» Knowledge
Fundamental laws

> Sensors
Numerous

> Perturbations
Controlled reactors

Biology

» Knowledge
Empirical laws

> Sensors
Qualitative

» Perturbations
Few possible
perturbations

& IRISA



DIFFERENCES BETWEEN SCIENCES

Physics Biology A
LEVELS OF Four domains of Big Data in 2025:
> COMPLEXITY complexity vs quantity
> KnOWIGdge KnOWIEdge (inspired by [Ste2015]) -
Fundamental laws Empirical laws Heterogeneity
> Sensors > Sensors Incompleteness 1
Numerous Qua litative Different scales of AsTRONOMY
granularity
> Perturbations » Pertu rbatlorors A TwirTer e
Controlled reactors Few possi ble dependencies OUTUBE ey
pe rtu rbatl ons 17 PB/year 1-2 EB/year 40 EB/year

v

Molecular biology cannot be studied with usual complex
system approaches

& IRISA




STRATEGY: DYNAMICAL SYSTEMS & LOGICAL CONSTRAINTS PROGRAMMING

Describe a system by a family of abstract models
- Avoid quantitative predictions
- Reason over a family of models instead of selecting a single one

Logical knowledge representation
- Search space description

Discrete dynamical systems
- Links between multi-scale observations

Combinatorial optimisation problems
- Replace laws by combinatorial constraints

Forget about deduction or induction...
and come back to abduction to mimic life science discovery reasoning

& IRISA
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3. Focus on the metabolic scale

. Short historical reminder: from observations to discoveries in life sciences
. (Identification of) dynamical systems

. Focus on the metabolic scale.

. Reasoning over discrete dynamical systems

. Knowledge representation : introduction to ASP

. More insights on ASP

. Back to biology towards more tricky problems

. Still new issues



FOCUS SUR L’ECHELLE DU METABOLISME

Voies métaboliques: ensemble de réactions chimiques permettant de convertir un composé
chimique en un autre a travers des transformations successives, catalysées par des enzymes.

Fonction métabolique Acteurs de cette fonction Du géne a la fonction

La respiration cellulaire, une voie de production d’énergie

A

ranscription
Dioxyde de carbone CO, TR e
Activités cellulalres Eau H,0 .
translation
Glucose CH,,O, i‘y
Dioxygéne 0 Resp|rat|on cellulalre

nz) e
® @@ =
- SN0,
@r

O Compound . Reaction

Mitochondrie Cytoplasme

Les fonctions métaboliques sont contrélées par des génes -

& IRISA



EXPLOITATION DU GENOME A L’ECHELLE DU METABOLISME

Transformation du
génome annoté en
carte métabolique

Analyse des flux: produire un maximur
de composés sans provoquer
d’embouteillages ?

orus

Minor groove

Major groove

Pyrimidines  Purines

B Growh rate (1)
04

Génie génétique (CRISPR) , .
pour optimiser la production theat
. . , s Optimality
de molécules
o
2
w ER
D S oy

03 Line of
Optimality

i
y=091x+2.94
R?2=0.92

-> Systéemes dynamiques non identifiables

- Principe thermodynamique & entropique
du métabolisme

- Recherche opérationnelle, raisonnement

NREEE0O0END

Le schéma est valable pour les bactéries, levures et microalgues (unicellulaires) A
qui ont des cartes de bonne qualité



DANS LA VRAIE VIE

Expected metabolic map Real metabolic map

Holes = impossible predictions

& IRISA



EUKARYOTES MULTICELLULAIRES : EXEMPLE DES MACRO-ALGUES
o Y

Les cartes sont lncompletes Using their fast ESMFold’s language model this

» on ne connait que trés partiellement les fonctions des protéines provides a structure for almost every cluster
. \ N . representative in the protein database, of which just
» Il manque des voies de synthése complétes dans les bases de connaissances under half of the proteins currently have an unknown

functional annotation. #protein #darkmatter

j

l_
AL
]

I ” E 1 . \ . Vd
Fﬁ ! { - La carte reconstruite a partir du génome d’E.
siliculosus ne pouvait produire in silico aucun des

composés mesureés expérimentalement

HJ
o

HmEREH
J

Les réseaux métaboliques reconstruits
pour une famille de 36 macro-algues
n’ont aucune cohérence
phylogénétique

[@]Diatoms

.Green algae

Les cartes dépendent fortement des ) Haptophytes
|© Nannochloropsis

annotations et des technologies de & grown algae

A d|Red al
Sequencage gIG?augogpaheytes
|®|Cryptophytes

Chaque lacune dans une carte est un potentiel de découverte scientifique —
® IRISA



GAP-FILLING A METABOLIC NETWORK : A COMPUTATIONAL PROBLEM

T = = s —— e  —p
'_-FHI:W B HF SIIENE-
|| _I—‘ J_'—:_* f :}:_I}AE. _: Ill _
al = [ — '—Y:._l :I:Ci:?:?lﬁ

e Tliges [t S
i M i 0 s AR
N s s i
BT AT
e
=

Draft network (holes) Functional network

A

Draft
network
% database %

Gap-filling problem(s)

Input:

- network with non-accessible target components
- Knowledge database of possible reactions

reactions

Output
- (minimal) set of reactions restoring target accessibility

& IRISA



GAP-FILLING A METABOLIC NETWORK : NUTSHELL

Milieu de culture

PN L XK 4
i
| v
.'I'rtansfqgmatlons P Transformations
intermédiaires & possibles
o
N ~ A
|

‘ Composé a produire

Which reactions (orange reactions) must be added to produce the green target ?

& IRISA



GAP-FILLING A METABOLIC NETWORK : NUTSHELL

Two reactions are sufficient

Warning: less easy if you have to take into account biological features:
cycles, co-factors, accumulations...

& IRISA



GAP-FILLING A METABOLIC NETWORK : NUTSHELL

E. Siliculosus

- Metabolic network: 1785 reactions, 1981 compounds

- Flux (flow) analysis : no production of the 54 experimentally
characterized molecules

- Flow-based gap-filling: add 500 reactions ?7?7?

- Unrealistic and intractable

Use genomic data to deduce/predict cellular behaviors - Dead-end ?

- Bottleneck 1 : not enough data to infer paramaterized dynamical models
- Quasi steady-state approximation — MILP problems

- Bottleneck 2: imprecise information about the structure of the dynamical models
-  Solve optimisation problems — Too many models (untractable)

& IRISA
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. More insights on ASP

. Back to biology towards more tricky problems

~Still new issues



WHAT ABOUT BEING LESS PRECISE

Milieu de culture

Transformations
intermédiaires

nsformations
3 ossibles

Composé a produire

“and” condition
~checked recursively

‘.

Two reactions are sufficient

Activated Not activated

Graph-based semantics [Handorf, Ebenhoeh, Sagot, Schaub/Thiele]
A reaction can be activated if all its substrates are

- either in the growth medium

- or the product of an activated reaction

Computation of graph-based activated reactions

- Easily modeled in logical programming
- Not that easy with linear constraints or with algorithmic procedures



UNDERLYING DYNAMICAL SYSTEMS

The graph-based approximation corresponds to a minimal fixed-point computation
in a Boolean framework

Continuous framework Discrete framework
(ODEs) (Boolean)
i dM(t —\ _
Dynamics (t) _ Sv(M()) p(m) = \/ /\ 3.
dt r€R|méeproduct(r) s€substrate(r)
dM(t m)=m VmeM
Steady-state ®) =0 ¢<_) )
dt o(m) =1 Vm € medium
Side-constraints Biomass optimisation Minimal number of activated nodes

Flux upper/lower values

Resolution Li MILP) solvi Logical programming with appropriate
framework inear ( ) solving negation model (ASP)

Gap-filling problem = solve a combinatorial optimisation problem

& IRISA



S. Prigent’s PhD

|N REAL LlFE Now @Inra

E. Siliculosus

- Flow-based gap-filling:. untractable

- Discrete-based gap-filling solved with ASP :
- 3500 solutions, 50 reactions to check.

Cho

ismate
rismate mutase
Esi0002 0121
EENED,
Prmheﬂ'e’

Biological discovery (knowledge confrontation)
One of the holes was badly predicted... since one of the

wmm]@m;gmem . . .
-y M enzymes had acquired a specific function.

H

Aromatic amino Arormatic amino
acid transferase i Y acid transferase

Esi0298 0018 Esi0298 0018

R ... < > ¥ CDLD

Towards new computer science issues: C. Crispus [G. Markov]
- SMT-based approaches
A single reaction was missing (false gene-assignement due to genome-assembly)

& IRISA




WHAT DID WE DO ?

Discrete framework

Describe a system by a family of abstract models " (Boolean)

- Avoid quantitative predictions b i B ~
- Reason over a family of models instead of ynamics ¢(m) = V A 5

SeleCtIng a Slngle one r€ R|méproduct(r) sEsubstrate(r)

o(m)=m VmeM
. . Steady-state L )
Logical knowledge representation o(m) =1 Vm € medium

- Search space description
Side-constraints Minimal number of activated nodes

Discrete dynamical systems

- Links between multi-scale observations Resolution Logical programming with appropriate
framework negation model (ASP)

Combinatorial optimisation problems
- Replace laws by combinatorial constraints

Efficiently solve optimisation combinatorial problems

{reaction(r)}.
scope(M) :- seed(M).

scope(M):- product(M,R), reaction(R), scope(M') : reactant(M',R). — e
:- target(T), not scope(T). & IRISA

#minimize{ reaction(r) }.



K { atomy; ...; atomp, } L - atomu.i;...; atom,; notatom,ii; ..., not atoms.
N J/ N J/

ANSWER SET PROGRAMMING

h;;d "smiley” b;ay
High-level model language
- Propositional logics
- Model for negation: everything is false a priori Optimisation rule
- Reasoning modes: enumeration, union, intersection of solutions  #maximize{W,atom(X): condition(X),W}.
- Optimisation Linear constrains atoms
Highly performant solving technics &sum{a1*x1;..;al*xI} <= k

- SAT-based and deductive-DB technics
- Decidable: no infinite loop

WHY IS IT USEFUL ?

- Relevant semantics of negation

- Optimisation : parcimony hypothesis

- Enumeration mode : complete solution space

- Union reasoning mode : families of candidates

- Projection reasoning mode : what can be surely deduced from knowledge

_ Integrative and systems biology is a very relevant field to challenge ASP technologies
& IRISA



O NO UV h WN B

& :IRISA

Institut de Recherche en Informatique et
Systémes Aléatoires

5. Knowledge representation : introduction to
answer set programming

. Short historical reminder: from observations to discoveries in life sciences
. (Identification of) dynamical systems

. Focus on the metabolic scale.

. Reasoning over discrete dynamical systems

. Knowledge representation : introduction to ASP

. More insights on ASP

. Back to biology towards more tricky problems

~Still new issues



Solving combinatorial problems

Problem Solutions

Problem Solutions @
ﬂSpeciﬁcation . Interpretation] SpecifN Interpretation
[

programming
o
o
Set of formulas
binary prosram Outputs

)

How to solve

W\ execution l Solving

Problem Solutions yoolean, linear) constraints
(SAT, ILP.,...)

C

Write a program which ¢

problem should be solve
ﬂModeling
Problem
H representation
Answer set programming. logil anguage]

Describe what you want to Declarative programing

Grounding Solver .
solve uu > Problem = axioms & rules

> No need of algorithm

& IRISA



ASP logical rules : declarative programming

K { atomi; ...; atom, } L - atompyi ;...; atom,; not atom,.1; ...; not atoms .
~ WV 7 . ~ .l 7
head smiley body
If all terms on the right side are true,

then atleast K and at most L terms are true
on the left side.

If nothing on the left side, If nothing on the right side,
then always false. then always true.
:- K{atoml, .. atomN}L. K{atoml, .. atomN}L.

Optimisation rule
#maximize{w,atom(X): condition(X),w}.

High-level model language Highly performant solving technics
» Propositional logics » SAT-based and deductive-DB technics
» Model for negation » Decidable: no infinite loop

& IRISA



ASP logical rules

K { atomy; ...; atom, } L :- atompii;...; atom,; notatom,;i; ..., not atoms.
head Semeys body

1{murderer(ms_Scarlet); murderer(colonel_Mustard)}1.

1{weapon_of_crime(revolver); weapon_of_crime(candlestick)}1l.

1{place_of_crime(kitchen); place_of_crime(hall);
place_of_crime(dining_room)3}1.

crim_record(ms_Scarlet,4). crim_record(colonel_Mustard,?7).

weapon_of_crime(candlestick).

:- place_of_crime(kitchen).

place_of_crime(hall) :- murderer(colonel_Mustard), not
weapon_of_crime(revolver).

sol(X,Y,z) :- murderer(X),weapon_of_crime(Y),place_of_crime(z).

#show sol/3.

How many solutions ? o IRISA



ASP logical rules

K { atomy; ...; atom, } L - atompyi ;...; atom,; not atom,.1; ...; not atoms .
head Semeys body

1{murderer(ms_Scarlet); murderer(colonel_Mustard)}1.
1{weapon_of_crime(revolver); weapon_of_crime(candlestick)}1. Declare
1{pTlace_of_crime(kitchen); place_of_crime(hall);

place_of_crime(dining_room)3}1. what you
. . know
crim_record(ms_Scarlet,4). crim_record(colonel_Mustard,?7).
weapon_of_crime(candlestick). What you
:- place_of_crime(kitchen). h
place_of_crime(hall) :- murderer(colonel_Mustard), not ave
weapon_of_crime(revolver). deduced up
. . to now
sol(X,Y,2) :- murderer(X),weapon_of_crime(Y),place_of_crime(z).
What you
#show sol1/3. look for
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ASP logical rules

K { atomy; ...; atom, } L :- atom,.i;...; atom,; notatom,,1; ..., not atoms.
head “smiley” body

1{murderer(ms_Scarlet); murderer(colonel_Mustard)}1.

1{weapon_of_crime(revolver); weapon_of_crime(candlestick)}1l.

1{pTace_of_crime(kitchen); place_of_crime(hall);
place_of_crime(dining_room)}1.

crim_record(ms_Scarlet,4). crim_record(colonel_Mustard,?7).

weapon_of_crime(candlestick).
:- place_of_crime(kitchen).
place_of_crime(hall) :- murderer(colonel_Mustard), not

weapon_of_crime(revolver).

sol(X,Y,2) :- murderer(X),weapon_of_crime(Y),place_of_crime(z).

#minimize{w , sol(X,Y,zZ) : sol(X,Y,Z) , crim_record(X,wW) , murderer Introduce

#show sol/3. optimization rules
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Example : which rule is encoded in the following program ?

vertex(rpsP). observedv(rpspP,-).
vertex(rpmC). observedv(rpmcC,-).
vertex(fnr).

vertex(arcA).

edge(fnr,rpsP). observede(fnr,rpspP,-).
edge(fnr,rpmC). observede(fnr,rpmC,+).
edge(arcA,fnr). observede(arcA,fnr,-).
edge(arcA, rpmC). observedE(arcA,rpmC,-).

1{1abelv(1,+) ; labelv (I,-)}1 :- vertex(I).
Tabelv(I,s) :- observedv(I,S).

1{labele(3,I,+) ; labelE (3,I,-)}1 :- edge(3,I).
labelE(3,I,S) :- observedeE(3,I,S).

receive(I,+) :- TabeleE(3,I,S), labelv(3,S).

receive(I,-) :- labele(3,I,S), Tabelv(3d,T), S!=T.

:- labelv (I,S), not receive(I,S).
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Example : which rule is encoded in the following program ?

vertex(rpsP). observedv(rpspP,-).
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(2) Associate a predicted
sign to each node and edge
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Example : which rule is encoded in the following program ?
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Example : which rule is encoded in the following program ?

vertex(rpsP). observedv(rpspP,-).
vertex(rpmC). observedv(rpmcC,-).
vertex(fnr) . (1) Declare nodes,

vertex(arcA). .
edge(fnr,rpsP). observede(fnr,rpspP,-). edges and sIgns [-]
edge (fnr, rpmc). observede(fnr, rpmC,+). s

edge(arcA,fnr). observede(arcA,fnr,-).
edge(arcA, rpmC). observedE(arcA,rpmC,-).

1{1abelv(1,+) ; labelv (I,-)}1 :- vertex(I). (2) Associate a predicted
Tabelv(I,s) :- observedv(I,S). .
1{labelE(3,TI,+) ; labelE (3,1,-)}1 :- edge(3,I). sign to each node and edge

labelE(3,I,S) :- observedeE(3,I,S). . ]
(3) Dynamical propagation

receive(I,+) :- labelE(J,I,s), labelv(J,s). of the signal

receive(I,-) :- labeleE(3,I,S), labelv(3d,T), S!=T.
(4) Ensure that propagation is

:- labelv (I,S), not receive(I,S). . ) o
consistent with prediction
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Implicit dynamical rule ?

Interpretation. For each gene which does not self-

induces itself, the gene expression variation must [+] [+]
be explained by a consistent regulation from at least
one predecessor. | FORBIDDEN PATTERNS: the target variation is not explained
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Implicit dynamical rule ?

Interpretation. For each gene which does not self-
induces itself, the gene expression variation must [+]
be explained by a consistent regulation from at least [+

one predecessor. [ FORBIDDEN PATTERNS: the target variation is not explained

Theorem. Assume that

OF y(:
@ Specy i autoregulates itself negatively: 8))<<((il)) < -=C, C>0.

@ There is no direct influence from P on X(i)

@ When i is absent, the system produces it Fyx;({X, X(i) = 0}) > 0

F
@ For every predecessor k — i, the sign of the action 5 X($<)) is constant during the experimentation

Then the variations of the species between two steady states (for different parameters) satisfy the following

relationship:
, . Z - 9OFx() ,
sign(AX(i)) ~ sign X (k) X sign(AX(k)).

ki k—i
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Examples of application

Explain and predict

» Competing effects
» Significant predictions

Key processes
» Incomplete IGF1- pathway

Better understanding of regulation

» Prediction of two new potential targets
» Confirmed by si-RNA

Days of DOX
0 4 7 10 17

IGF2 - — — —

Bactin | e — -

FASLG
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6. More insights on ASP

. Short historical reminder: from observations to discoveries in life sciences
. (Identification of) dynamical systems

. Focus on the metabolic scale.

. Reasoning over discrete dynamical systems

. Knowledge representation : introduction to ASP

. More insights on ASP

. Back to biology towards more tricky problems

. Still new issues



Description rapide

Régles disjonctives

K { atomy; ...; atom, } L - atomuy1 ; ..., atom,, not atom,.1; ..., not atoms .
~—~
head "smiley” body
@ facty, ..., fact, sont des atomes
@ Reégle de déduction

Si tous les faits apparaissant dans le corps sont vrais,

alors la téte contient entre K et L faits qui sont vérifiés.

@ Contrainte d'intégrité. S'il n'y a pas de téte: le corps est toujours faux
- facty.
@ Faits vrais. S'il n'y a pas de corps, la téte est toujours vraie

facty.

Les Ensembles-réponses sont tous les modéles valides

@ Ce sont des ensembles d'atomes qui vérifient toutes les régles.

@ Tout atome d'un modéle valide apparait dans la téte d'au moins une régle.
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Who killed Mr Boddy ?

PROGRAM

% Specify that there is only one murder

1{murderer (ms_Scarlet) ;murderer(colonel Mustard) }1.

1{weapon_of crime(revolver) ;weapon_ of_crime(candlestick) }1.

1{place_of crime(kitchen);place_of _crime(hall);place_of_crime(dining-room)}1.

% Declare what you can deduce from your cards
:- place_of_crime(kitchen).
place_of crime(hall) :- murderer(colonel Mustard);

not weapon_of_crime(revolver).

weapon_of _crime (candlestick) .

% Enumerate the solutions
#show murderer/1.

#show place_of_crime/1.
#show weapon_of _crime/1.

ANSWER SETS? Exercice

Solving...

Answer: 1

weapon_of _crime(candlestick) murderer(colonel Mustard) place_of_crime(hall)
Answer: 2

weapon_of _crime(candlestick) murderer(ms_Scarlet) place_of_crime(dining room)
Answer: 3

weapon_of _crime (candlestick) murderer(ms_Scarlet) place_of_crime(hall)
SATISFIABLE
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ASP: Principe généraux a retenir

Approche déclarative pour la résolution de problemes combinatoires de complexité NP
" What instead of How ?”

APPROCHE DECLARATIVE

Modélisation du probléme a résoudre sous formes d'axiomes et de contraintes exprimées dans un
langage logique.

POURQUOI CE NOM ?
Les modeles logiques solutions de I'ensemble de formules, les ensembles réponses, sont les résultats

du programme.

PRINCIPE

Des solveurs associés effectuent la recherche d'une, de plusieurs, ou de I'ensemble des solutions.
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Un peu plus précisément

Langage de modélisation a haut-niveau expressivité: ASP ~ Prolog
@ LOGIQUE PROPOSITIONNELLE

— On ne peut travailler que sur un ensemble fini d’atomes.

@ NECGATION : formalisme élégant (monde clos).

— Un prédicat est faux tant qu’aucune indication ne permet de dire qu'il est vrai.

Capacité de résolution de problémes trés élevée
ASP ~ SAT, ILP
@ DECIDABLE techniques de résolution SAT

— Pas de réécriture de programmes
— L'ordre des clauses n'a pas d'impact

— PAS DE BOUCLE INFINIE dans la résolution

@ OPTIMISATION, raisonnement flexible (préférences), solveurs hybrides.
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Une spécificité treés utile en biologie moléculaire et bioinformatique

Différents modes de raisonnements

Déduire différents types d’information biologique

@ ENUMERATION des solutions a un probléme (clingo cluedo.lp -n 0)

— Variabilité et taille de I'espace des modéles possibles

@ INTERSECTION (cautious reasoning) des atomes présents dans toutes les solutions (clingo
cluedo.lp --enum-mode=cautious)
— Déductions robustes des données et connaissances
@ UNION (brave reasoning) des atomes présents dans toutes les solutions ( clingo cluedo.lp
--enum-mode=brave)

— Espace des déductions possibles
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Programmation par ensembles-réponses: d’'un point de vue concret
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Syntaxe: Termes

CONSTANTE : entier, mot de {a-z, A-Z, 0-9, _}*

— débute par une MINUSCULE.  porquerolles jean-Paul_Comet

VARIABLE : mot de {a-z, A-Z, 09, _}*

— débute par une MAJUSCULE. Lieu Organisateur

FoncTioN
o de la forme  constante(terme, ..., terme)
@ inclut les opérateurs :  a+b

@ inclut la notation de liste.  L=[a,b,c]=[a|U], U =[b,c]

Question: Cout (Repas (Participants,Jour) ,nuits(participants,jour))*5 est-il valide ?

Réponse: cout (repas(Participants,Jour) ,nuits(Participants,Jour))*5

LITTERAL
@ Négation not q

@ Calculs X<Y U!=V X+Y¥<5
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Syntaxe: Termes

CONDITION

TailleMin { atomel : domaine_validitel ; atome2: domaine_validite2 } TailleMax

@ On construit I'ensemble des atomesl et atomes 2 qui vérifient toutes les conditions de
validité.

@ On isole tous les sous-ensembles de taille qui contiennent entre TailleMin et TailleMax
atomes valides.

25{chambreSimple (X) :particip(X) ; chambreDouble(Y,Z):particip(Y),particip(Z)}30

— Sous-ensembles de 25 a 30 chambres simples ou doubles qui hébergent des participants.

5 { chambreSimple(X) : participant(X) ; dureeSejour(X)=DureeMax } 8

— Sous-ensembles de 5 a 8 chambres simples qui hébergent des participants dont la durée du
séjour est égale a la constante DureeMax.
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Exemple

Variables

% Declare what you are playing with

place(kitchen; hall; diningroom).
weapon(revolver; candlestick).
character (colonel Mustard;ms_Scarlet).

% Specify that there is only one murder
1{murderer (X) :character(X) }1.

— Le grounder (gringo cluedo.lp -t) va instancier cette clause en 1{murderer (ms_Scarlet)
; murderer(colonel Mustard) }1.

1{weapon_of _crime (X) :weapon(X) }1.
— grounding: 1{weapon_of _crime(revolver) ; weapon.of_crime(candlestick)}1.

1{place_of crime(X) :place(X) }1.
— grounding:

1 {place,of,crime (kitchen) ;place_of crime(hall);place_of crime(dining-room) }1 .
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Syntaxe: Termes

1{bouchanourrirs(X) :perso(X) }2
— sous-ensemble de taille 1 4 2 de I'ensemble des atomes bouchanourrirs(X) qui sont vrais, ol X

est une variable dans le domaine défini par le prédicat perso.

Sans indication supplémentaire sur les prédicats bouchanourrirs et perso, ce terme est

strictement équivalent a
1H{rX):qx)}2

2{r () :q(=U ; s(V):t(V)=2}

— Sous-ensemble de taille au moins 2 de I'ensemble composé
@ des r(U) vrais pour lesquels U est tel que q(U) = U,
@ ET de I'ensemble des s( V) vrais pour lesquels V est tel que t(V) = 2.
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Syntaxe: Clauses

FAITS p(2,a).
— p(2,a) est vrai.

REGLE q(X) - pX,Y) ; q(¥) .
— Si p(X,Y) est vrai et q(Y) est vrai, alors q(X) est vrai aussi.

CONTRAINTE - q(2) .
— q(2) est faux.
- p(X) 5 qX) .
— Le prédicat "p(X) et q(X)" est faux.

OPTIMISATION

#minimize{Score , ensembleDeRecherche(X,...,Z) : ensembleDeRecherche(X,...,Z) ,
contraintel(X,...,Z) , contrainte2(X,...,2) ,
contrainteVariablesScore(X,..,Z,Score) ,

SORTIES
#show p(X). #show p/1. #show s(X):r(X).

Le /1 désigne I'arité de p. p/1 est équivalent a p(X)
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Exemple optimisation

place(kitchen; hall; diningroom).
weapon(revolver; candlestick).
character(colonel Mustard;ms_Scarlet).
1{murderer (X) :character (X) }1.
1{weapon_of _crime (X) :weapon(X) }1.
1{place_of crime(X) :place(X)}1.
:- place_of crime(kitchen).
place_of crime(hall) :- murderer(colonel Mustard) ;

not weapon-of_crime(revolver).
weapon_of_crime (candlestick) .

sol(X,Y,Z) :- murderer(X) ; weapon_of_crime(Y) ; place_of_crime(Z).
criminal_record(colonel_Mustard,20). criminal_record(ms_Scarlet,18).

number_previous_crime(hall,8). number_previous_crime(dining room,6).
number_previous_crime(kitchen,2) .

#show sol/3. #show murderer/1. #show place_of_crime/1. #show weapon_of_crime/1.

Answer: 1

weapon_of crime(candlestick) murderer(ms.Scarlet) place.of_crime(diningroom) sol(ms-Scarlet,candlestick,dining room)
Answer: 2

weapon_of crime(candlestick) place.of_crime(hall) murderer(ms.Scarlet) sol(ms.Scarlet,candlestick,hall)

Answer: 3

weapon_of crime(candlestick) place.of_crime(hall) murderer(colonel Mustard) sol(colonel-Mustard,candlestick,hall)

Question: écrire une régle qui permet de caractériser les solutions de poids minimal?
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Synthaxe

#minimize{W , sol(X,Y,Z) : sol(X,Y,Z) , criminal_record(X,W) ,
character(X) , place(Z) , weapon(Y)}.

(clingo cluedo.lp --opt-mode=optN)

Answer: 1

weapon_of _crime(candlestick) place_of _crime(hall)
murderer (ms_Scarlet)
sol(ms_Scarlet,candlestick,hall)

Optimization: 3

Answer: 2

weapon_of _crime(candlestick) murderer(ms_Scarlet)
sol(ms_Scarlet,candlestick,dining room)

place_of crime(dining_room)

Optimization: 3

OPTIMUM FOUND
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Exercice 1

Données : nombre de minutes que doit mettre un taxi pour joindre un client
cout(taxil,client1,10). cout(taxi2,client1,8).
cout(taxi3,client1,12). cout(taxil,client2,11).
cout(taxi2,client2,15). cout(taxi3,client2,13).

cout (taxil,client3 ,7). cout(taxi2,client3 ,7).

cout (taxi3,client3,10).

Dérivation d'un graphe : comment identifier les taxis et les clients ?

taxi(T):- cout(T,_,.). client(T):- cout(_,T,.).

Caractéristiques d'une solution

Exercice: introduire des clauses pour définir le prédicat sol(Taxi, Client) qui affecte un taxi
par client et un client par taxi
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Exercice 1

Données : nombre de minutes que doit mettre un taxi pour joindre un client
cout(taxil,client1,10). cout(taxi2,client1,8).
cout(taxi3,client1,12). cout(taxil,client2,11).
cout(taxi2,client2,15). cout(taxi3,client2,13).

cout (taxil,client3 ,7). cout(taxi2,client3 ,7).

cout (taxi3,client3,10).

Dérivation d'un graphe : comment identifier les taxis et les clients ?

taxi(T):- cout(T,_,.). client(T):- cout(_,T,.).

Caractéristiques d'une solution

Exercice: introduire des clauses pour définir le prédicat sol(Taxi, Client) qui affecte un taxi
par client et un client par taxi

1{sol(X,Y):taxi(X) }1:- client(Y).
1{sol(X,Y):client (¥) }1:- taxi(X).
Optimisation
Exercice: minimiser le coiit d’affectation ?

#minimize { Temps, sol(Taxi, Client): sol(Taxi, Client), cout(Taxi, Client, Temps) } .

. généralisable a de nombreux problémes de graphes.
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Modélisation de la négation

Ensemble-réponse = solutions données par le programme
@ Un ensemble réponse contient des atomes se trouvant dans au moins une téte de régle du
programme.
@ Tout élément d'un ensemble réponse est supporté par une reégle.
@ Tout ce qui n'est pas prouvé par un fait est considéré comme faux !

@ Logique non monotone: rajouter des faits a une théorie peut faire réduire I'ensemble de
conclusions.
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Exemple 1

PROGRAMME
a :- b;p;q.
b :- q.

QUEL EST L'ENSEMBLE-REPONSE DU PROGRAMME ?
L’ensemble-réponse du programme est I'’ensemble vide ()

— Le programme ne contient que des implications, et rien n'est "vrai".

Tout ce qui n'est pas prouvé par un fait est considéré comme faux!
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Exemple 2

Programme
a := b;p;q.
b :- q.

q.

QUEL EST L’ENSEMBLE-REPONSE?
L'ensemble réponse du programme est {b,q}

— On n’a pas gardé p puisqu’on n'a aucune preuve de p.

Les atomes d’un ensemble-réponse d’un programme positif apparaissent dans la téte d’au moins
une regle
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Exemple 3

P:= P
q:- not p.

QUEL EST L’ENSEMBLE-REPONSE?

Ensembles-réponses ? {q}

(Par défaut, p est considéré comme faux !)
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Exemple 4

p:- not q. q:- not p.
p:- not q.
q:- not p.

QUEL EST L’ENSEMBLE-REPONSE?

Ensembles-réponses ? {p}, {q}

(Si p est faux, on obtient une preuve de g, et inversement, donc deux solutions)
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Exemple 5

p:- not p.

QUEL EST L’ENSEMBLE-REPONSE?

Ensembles-réponses ? Aucun: il n’y a pas d’ensemble stable !

A RETENIR
Un ensemble réponse contient des atomes se trouvant dans une téte de régle du programme.
Tout élément d’un ensemble réponse est supporté par une regle.

LOGIQUE NON MONOTONE Rajouter des faits a une théorie peut faire réduire I'ensemble de
conclusions.
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Exemple 6

a :- b ; not q.
b:-p; q
p.

QUEL EST L’ENSEMBLE-REPONSE?
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Exemple 6

a :- b ; not q.
b:-p; q
P-
QUEL EST L'ENSEMBLE-REPONSE?

Ensembles-réponses ? C’est p. (puisqu’on n’a pas de preuve de b pour déduire a...)

CALCUL EFFECTIF

@ On réduit le programme par rapport a { q } (=on enléve les régles dans lesquelles { q })
apparait avec une négation

b:- p; q.
P
@ Exercice: calculer le réduit du programme parrapport a { a } , { b } ,{ p }
a :- b.
b:- p; q.
p-
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Exemple 7 : contrainte d'intégrité vs regle de déduction

RAPPEL DE MATH "A = B" est équivalent a vérifier que la formule B ou notA est vraie
Ce qui est équivalent a verifier que la formule notB et A est fausse.

Et en ASP ? Comparer les deux programmes

:— not b; a.
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Exemple 7 : contrainte d'intégrité vs regle de déduction

RAPPEL DE MATH "A = B" est équivalent a vérifier que la formule B ou notA est vraie
Ce qui est équivalent a verifier que la formule notB et A est fausse.

Et en ASP ? Comparer les deux programmes

:— not b; a.
a.
b :- a.
a. Solution : insatisfiable.
Solution : a. b. Contrainte d'intégrité : on ne peut pas

déduire b puisque qu’on n’a aucune preuve
de b (qui n'apparait dans aucune téte de
régle). Mais si vrai est faux alors "not b;
a" est vérifié et cela n'est pas autorisé.

Regle de déduction. Puisque a est vrai,
alors b est vrai.
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Conclusion : modélisation de la négation

Ensemble-réponse = solutions données par le programme
@ Un ensemble réponse contient des atomes se trouvant dans au moins une téte de régle du
programme.
@ Tout élément d'un ensemble réponse est supporté par une reégle.
@ Tout ce qui n'est pas prouvé par un fait est considéré comme faux !

@ Logique non monotone: rajouter des faits a une théorie peut faire réduire I'ensemble de
conclusions.

23/41



Exercice

Question : que veut dire ?
:- {proprieteLambda(U+1) :conditionQuelconque(U)} M ; domaineValidite(M).

@ |l est faux d’avoir :
si M qui vérifie le prédicat domaineValidite,
il existe un ensemble contenant au plus M atomes vrais de la forme proprieteLambda(U+1),
ou U vérifie le prédicat conditionQuelconque.

@ Autre formulation:
Pour tout M qui vérifie domaineValidite,
le prédicat proprieteLambda(U+1) est vrai au moins M + 1 fois

lorsqu’on parcours les U qui vérifient conditionQuelconque.

@ Encore une autre formulation:
Pour tout M qui vérifie domaineValidite,

il y a au moins M + 1 valeurs de U qui vérifie conditionQuelconque et qui sont telles que
proprieteLambda (U+1) est vraie.

—; Introduction de quantificateurs...

Nouvelle question : que veut dire 7
= {r(U+1) :q(U }M ; p(M).

24 /41



Généralisation

Question : proposer des reformulations de la régle suivante
:- not {proprieteLambda(U+1):conditionQuelconque(U)}M ; domaineValidite(M).

@ |l est faux d’avoir :
si M vérifie le prédicat domaineValidite,

il n'existe pas d'ensemble contenant au plus M atomes vrais de la forme
proprieteLambda(U+1),

ol U vérifie le prédicat conditionQuelconque,
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Généralisation

Question : proposer des reformulations de la régle suivante

:- not {proprieteLambda(U+1):conditionQuelconque(U)}M ; domaineValidite(M).

Il est faux d’avoir :
si M vérifie le prédicat domaineValidite,

il n'existe pas d'ensemble contenant au plus M atomes vrais de la forme
proprieteLambda(U+1),

ol U vérifie le prédicat conditionQuelconque,

Autre formulation:

si M vérifie domaineValidite,

le prédicat proprieteLambda(U+1) est vrai au plus M fois
lorsqu’on parcours les U qui vérifient conditionQuelconque.

Encore une autre formulation:
Pour tout M qui vérifie domaineValidite,

il y a au plus M valeurs de U qui vérifie conditionQuelconque et qui sont telles que
proprieteLambda (U+1) est vraie.

Introduction de nouveaux quantificateurs et du concept de "au moins”...
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Exercice 2

Proposer un programme ASP pour modéliser le systéme suivant

Le métabolisme du lactose chez Escherichia coli nécessite la présence de 3 enzymes: la
(B-galactosidase LacZ, la pérméase LacY et la transacetylase LacA. La perméase
LacY transporte le lactose de I'extérieur de la cellule a I'intérieur du milieu cellulaire.
LacZ hydrolyse le lactose interne en glucose et en allolactose. Les protéines LacY et
LacZ sont sous contréle direct d’un inhibiteur appelé Lacl. Inversement, un complexe
formé d’AMP cyclique et de la protéine CRP (cAMP — CRP) agit sur I'activité des
ARN-polymérases et permet d’activer fortement la transcription de LacY et LacZ. Le
glucose inhibe la production d’AMP cyclique. Enfin, I'allolactose a une action
inhibitrice sur Lacl via la formation d’'un complexe.
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Exercice 2

© Ecrire un programme pour I'opéron-lactose qui prédit les enzymes, métabolites,
autres molécules présentes dans le systéme en fonction de la présence ou non de
Lacl, LacA, LacZ et du lactose externe.

@ Quelle est la différence entre les deux codages suivants pour décrire le lien entre

Lacl et LacY
o :- enzyme(lacI), enzyme(lacY). (contrainte d'intégrité)
o enzyme(lacY) :- not enzyme(lacI). (régle de déduction)
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(Début de solution de I") Exercice

%enzyme (lacI) .

enzyme (lacZ) .

%enzyme (lacY) .

%enzyme (lach) .

metabolite(lactoseExterne).

metabolite(lactoseInterne) :- enzyme(lacY) ; metabolite(lactoseExterne).
metabolite(allolactose) :- enzyme(lacZ) ; metabolite(lactoseInterne).
metabolite(glucose) :- enzyme(lacZ) ; metabolite(lactoselnterne).

%:- enzyme(lacI), enzyme(lacY).
(Intégrité: si lacl et lacY sont présents, le systéme est incompatible)
enzyme (lacY) :- not enzyme(lacI).
(régle: si lacl est absent, alors lacY est présent)

:— enzyme(lacI), enzyme(lacZ).

enzyme (lacZ) : - coumpound(ampcyc) ; proteine(crp).
enzyme (lacY) : - coumpound(ampcyc) ; proteine(crp).
:-coumpound (ampcyc) ; metabolite(glucose).
:-metabolite(allolactose) ; enzyme(lacI).

#show enzyme/1.

#show metabolite/1.

#show coumpound/1.

Le codage des régles est trés sensible a ce que nous voulons exprimer et peut changer tous les
résultats
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Application réelle

Contrainte sur la coloration de graphes
Expliquer I'expression de chaque géne cible par la régulation consistante d'au moins une source.

0w\ Jim +\ [t I\ fH

g

FORBIDDEN COLORED PATTERNS

Exercice
Ecrire un programme qui vérifie que le modéle est inconsistant ou, s’il est consistant, qui donne
les prédictions existantes
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Suite

Déclarer les signes, sommets, observations des sommets, aretes avec leurs observations.

Les observations sur les arétes permettent de déclarer des arétes.
Le terme predictedV(I,S) spécifie que chaque sommet a exactement un signe prédit par la méthode.

Les prédictions sur les sommets sont compatibles avec les observations si elles existent.

Un sommet recoit une influence positive si le signe d'un de ses régulateurs est égal au signe de I'interaction correspondante

Un sommet recoit une influence négative d'un de ses régulateurs est opposé au signe de I'interaction correspondante

Pour tout sommet / qui a au moins un régulateur dans le graphe, si / est prédit comment étant de signe S, alors / doit recevoir une
influence de signe S d'un de ses régulateurs

(1) On caractérise les sommets sans prédécesseurs

(2) Pour modéliser le "quelque soit”, on exprime le fait que la contraposée est fausse

Afficher les prédictions sur les sommets
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Suite

Déclarer les signes, sommets, observations des sommets, aretes avec leurs observations.
signe (down;up) .

vertex(rpsP;fnr;arcA;rpuC;appY;appB) .

observedV (rpsP,up) .

observedV (appY,down) .

observedE(fnr,rpsP,down) . observedE(fnr,rpnC,up)
observedE(arcA,fnr,down). observedE(arcA,rpmC,down).

observedE (arcA,appB,up). observedE(appY,appB,up) .

Les observations sur les arétes permettent de déclarer des arétes.
edge(I,J) :- observedE(I,J,S); signe(S).

Le terme predictedV(I,S) spécifie que chaque sommet a exactement un signe prédit par la méthode.
1predictedV(I,S):signe(S)1 :- vertex(I).

Les prédictions sur les sommets sont compatibles avec les observations si elles existent.
predictedV(I,S) :- observedV(I,S).

Un sommet recoit une influence positive si le signe d'un de ses régulateurs est égal au signe de I'interaction correspondante
influenced(I,up) :- observedE(J,I,S); predictedV(J,S); signe(S).

Un sommet recoit une influence négative d'un de ses régulateurs est opposé au signe de I'interaction correspondante
influenced(I,down) :- observedE(J,I,T); predictedV(J,S) ; T!=S.

Pour tout sommet / qui a au moins un régulateur dans le graphe, si | est prédit comment étant de signe S, alors / doit recevoir une
influence de signe S d'un de ses régulateurs

(1) On caractérise les sommets sans prédécesseurs
sansPredecesseur (I) :- vertex(I); Oedge(J,I):vertex(J)0.

(2) Pour modéliser le "quelque soit”, on exprime le fait que la contraposée est fausse : il est faux d'avoir au moins un couple (/, S) tel que
I a un régulateur, / est prédit comme ayant le signe S et / ne recoit pas une influence de signe S.
:- vertex(I); signe(S); predictedV(I,S); not influenced(I,S); not sansPredecesseur(I).

Afficher les prédictions sur les sommets
#show predictedV/2.
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Application

ENUMERATION
clingo consistance.lp -n 0

Answer: 1

predictedV(appY,down) predictedV(rpsP,up) predictedV(appB,up)
predictedV(rpmC,down) predictedV(arcA,up) predictedV(fnr,down)
Answer: 2

predictedV(appY,down) predictedV(rpsP,up) predictedV(appB,down)
predictedV(rpmC,down) predictedV(arcA,up) predictedV(fnr,down)
SATISFIABLE

INTERSECTION DES SOLUTIONS : CE QUI EST CERTAINEMENT DEDUIT

clingo consistance.lp ——enum-mode=cautious

Cautious consequences:

predictedV(appY,down) predictedV(rpsP,up) predictedV(rpmC,down)
predictedV(arcA,up) predictedV(fnr,down)

SATISFIABLE

UNION DES SOLUTIONS: GROUPER TOUT CE QUI PEUT ETRE DEDUIT

./clinfo consistance.lp ——enum-mode=brave

Brave consequences:

predictedV(appY,down) predictedV(rpsP,up) predictedV(appB,up)
predictedV(appB,down) predictedV(rpmC,down) predictedV(arcA,up)
predictedV(fnr,down)

SATISFIABLE
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Extensions

PROGRAMME POUR TROUVER UNE COLORATION QUI CONTIENT LE PLUS DE SIGNE ”-” POSSIBLES 7

poids (up,0) .
poids(down,10) .
#maximize {T, predictedV(I,S): poids(S,T), predictedV(I,S), vertex(I), signe(S)}.

CONCRETEMENT. On recherche tous les modéles optimaux avec
clingo programme.lp ——opt-mode=optN
Solving. ..
Answer: 1
predictedV(appY,down) predictedV(rpsP,up) predictedV(fnr,down) predictedV(arcA,up) predictedV(rpmC,down)
predictedV(appB,down)
Optimization: -20
Answer: 2
predictedV(appY,dovn) predictedV(rpsP,up) predictedV(fnr,down) predictedV(arcA,up) predictedV(rpmC,down)
predictedV(appB,up)
Optimization: -30
Answer: 1
predictedV(appY,dovn) predictedV(rpsP,up) predictedV(fnr,down) predictedV(arcA,up) predictedV(rpmC,down)
predictedV(appB,up)
Optimization: -30
OPTIMUM FOUND

Models : 3
Optimum : yes
Optimization : -30

LECTURE DE LA SORTIE
@ Le solveur cherche I'optimum (Answer:1 ... Answer: 2) jusqu'a a trouver la bonne valeur
optimale (-30).
@ Ensuite, le solveur recommence sa recherche et énumére toutes les solutions dont le score
prend cette valeur optimale (Answer:1 ... OPTIMUM FOUND)
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ANSWER SET PROGRAMMING

K { atomy; ...; atomp, } L - atomu.i;...; atom,; notatom,ii; ..., not atoms.
N J/ N J/

h;;d "smiley” b;ay
High-level model language
- Propositional logics
- Model for negation: everything is false a priori Optimisation rule

- Reasoning modes: enumeration, union, intersection of solutions  #maximize{W,atom(X): condition(X),W}.

- Optimisation

Highly performant solving technics

- SAT-based and deductive-DB technics
- Decidable: no infinite loop

Problem statement
& modelling

&:IRISA

@ N2
LD

'3
e
. ‘Pq’a

Solving heuristics

Linear constrains atoms
&sum{a1*x1;...;al*xl} <= k

ASP programs never scale...
... until they do scale thanks to specific heuristics

Repair large-scale interaction graph with branch and bound

Scale metabolic network gap-filling problem with unsatisfiable core
[LPNMR’13]

Design experiments with incremental solving
Implement and benchmark constraints propagators

& problem reformulation

& IRISA
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& :IRISA

Institut de Recherche en Informatique et
Systémes Aléatoires

7. Back to biology & more tricky problems

. Short historical reminder: from observations to discoveries in life sciences
. (Identification of) dynamical systems
. Focus on the metabolic scale.

. Reasoning over discrete dynamical systems
. Knowledge representation : introduction to ASP

. More insights on ASP
. Back to biology towards more tricky problems
. Still new issues



COMING BACK TO METABOLISM

Graph-based semantics [Handorf, Ebenhoeh, Sagot, Schaub/Thiele]
A reaction can be activated if all its substrates are

- either in the growth medium
- or the product of an activated reaction

“and” condition
~checked recursivel

Activated Not activated

From dynamics to reasoning:
caracterize metabolite production

Solve the gap-filling problem

& IRISA



COMING BACK TO METABOLISM

Graph-based semantics [Handon‘, Ebenhoeh, Sagot, Schaub/Thiele]
A reaction can be activated if all its substrates are

- either in the growth medium

- or the product of an activated reaction

From dynamics to reasoning:
caracterize metabolite production

Solve the gap-filling problem

“and” condition
~checked recursivel

Activated Not activated

scope(M):- seed(M).
scope(M) :- product(M,R), reaction(R), scope(M') : reactant(M',R).

{reaction(r)}.

scope(M):- seed(M).

scope(M):- product(M,R), reaction(R), scope(M') : reactant(Mm',R).
:- target(T), not scope(T).

#minimize{ reaction(r) }.



S. Prigent’s PhD
Now @Inra

APPLICATION....

E. Siliculosus [Pzt Journal15]
- Flow-based gap-filling:. untractable
- Discrete-based gap-filling solved with ASP (union mode) :
- 3500 solutions, 50 reactions to check (union reasoning mode).

& IRISA



THE METABOLIC MAP HAD NEW SECRETS

B-alanine biosynthesis Il
o]

o X

Phosphopantothenate biosynthesis |

Hj
H3C OH
(o]

O

Aspartate 2-oxoisovalerate

H .
' Phect502 I Phect2640
% | EC 4.1.1.11 Esi0112_0042
Esi0133_0041 EC 2.1.2.11
. v - ok EC1.1.1.169  Hs Hsg
OH HO.
A T < on
B-alanine Pantoate Ketopantoate
#£i0070_0043
Phect3248 /
. EC6.3.21 .
HOH
> N. OH
HO%I/ Esi0031_0150
HsC CH3 0 \/ﬁc‘: Phect2770
) '\;c 2.7.1.33
Vitamin B5 (Pantothenic acid)
. . i
One of the necessary filled reactions could not on M
HO—IE'—O’Y'\IrN\/\n’OH
be operated by the algae... but by a bacteria ! -5 geb 8
Vo Phosphopantothenate
Coenzyme A biosynthesis
(Complete in EctoGEM)

Biological discovery = inconsistency between predictions and knowledge

& IRISA



B-alanine biosynthesis Il
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NEW COMBINATORIAL PROBLEM

‘
!a i\é

Algae

C. Frioux’s phD.

= = ] Now @Inria
: Sii] i gS= A
; o
% G| v ] \‘ H L ‘,'7 I [0
=l USHS T ﬁ:“i*ﬂ*
T 7 ! iz \‘E[%@f* n

Hundreds of bacteria =l Jf SEs g S mih

s =

i

=y
o
il
!
]
)

\ Hundreds of metabolic maps with

? possible exchanges
g ' =
P

\D/

F

\

m/

Smallest number of bacteria useful for the algae ?
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NEW GAP-FILLING PROBLEM

Synthetic community problem
- Pick—up reactions in the database made of bacterial GSMs.
- For few bacteria: Steiner graph approach [Sagot team, 2017]

l

Draft
network
‘w candidat

- . 499,177 combinations of
uuuu @ Gapfilling complexity <6 exchanges
e"t;jfrk » depends on the number of hyperarcs

(L

' reactions
)1( i‘/ Size of the search space
I I » depends on the number of symbionts

Gapfilling database: Bacterial GSMs

1.62.108" combinations of
<10 exchanges

Highly combinatorial optimization problem

& IRISA



PROBLEM RESOLUTION

Heuristics for the community selection problems,
- playing with projection and union reasoning modes

Who problem
- Get rid of boundaries and select all minimal symbiot families
- ASP-based gapfilling with a meta-bacterial GSM as database

How problem
- Sort the selected families according to the number of exchanges

- ASP-based gapfilling with union of compartimentalized GSMs as database.

Curation
- Model prior knowledge / co-culture / cultivable constraints
- Ask your favorite biologist to select the final community

C. Frioux’s phD.

Now @Inria

mxdbagCnity(S, T, G1..GN)

= arg min

{Gi, .Gy, }c{G1..GN

size (T\mxdbagScope(G,, .G, ,S)),)

} size {G;,..Gj, }.

cptCnity(S, T, G1..GN)

= argmin
{G;,..G;, }
c {G1..Gn}

size (T\mxdbagScope(G,, .G, S)) s
size{G;, -Gy, },

size{€ C exchg(G;,..G;,)|
T NcptScope(G;,..G;, , €, S)
= T N mxdbagScope(G;,..G;, ,S)}.

& IRISA



VALIDATION AND BENCHMARKING ON THE HUMAN MICROBIOTE

Benchmark
- Human model + 773 AGORA bacteria. 46 molecules to produce

C. Frioux’s phD.

. . Now @Inria
Applying the miscoto tool [ECCB/bicinformatics 2018]

- Enumeration : 381 minimal communities of 3 bacteria,
- Union: 89 bacteria in total

Analysis of solutions (power graphs) Clustering of bacteria
Each of the 381 communities is composed of
1 Bacteoidetes (/58) + 1 Firmicute or Proteobacteria (/15) + 1 Firmicute or F’rbteobact

res

vir 2o s

ittt ko DM 271
. i Sl s IS 481072 i) R
=t e bt Bacilus mycotdes DSM 2048 b
Bacilus timonensis JCA01
bl ~ Bucils endphticns 2102 2

Nistpes st WAL 8301
frio L

LT Tr

l-m-l-h-!»_-..._.....necw ‘n‘ e

P —r

Cluster 1: L Cluster 2: X Cluster 3:
Bacteroidetes Firmicutes & Proteobacteria Firmicutes & Proteobacterla

Clstritm sordelli ATCC 9714 » e e MCLIZESZS
Excherchi albeti K1 a Kb 31155 “
A Methylobuctrium radiotolerans JCM 2831 48
ATCC o Sernti liguucens ATCC 27592 -
Vibro uvisls 560 -

Kiuyoersascorbata ATCC 33433 Y
vl 7, Vibrio furnissi NCTC 11218 ®

EEEEILIILT]

— Back to biological discovery: Screening of individual metabolic functions p —
The functionality of individual targets explains the communities » IRISA



APPLICATION TO ALGAL METABOLISM

Preliminary community selection for E. Siliculosus
- 10 cultivable bacteria
- Prediction: 6 equivalent communities of 3 bacteria

CNRS * SORBONNE UNIVERSITE

Station Biologique

Experimentations de Roscoff
\ Without )
microbiome + 3 selected '
bacteria among L
10 cultivable With S. Dittami, Bertille
bacteria

Burgunter-Delamare [Frontiers, 2020]

The algae grew again... but with strange behaviors ... (to be continued)

& IRISA



APPLICATION A L'ETUDE D’UNE GRANDE FAMILLE D’ALGUES

Chondrus crispus —————————— Chondrus crispus
psis chorda chorda
Porphyra Porphyra umbi
Cyanic izon merolae C) merolae
Galdieria ié Galdieria
prasinos prasinos

M O: tauri O: tauri
pusilla pusilla

C

1 i~ - socialis
P roj et Phaeoexpl Orer Tetrabaena socialis ---~"""_ = ~Chlamydomonas reinhardtii
— Volvox carteri Volvox carteri
—_ Gonium pectorale

Gonium pectorale

o 61 échantillons d’algues séquencés

Ulva mutabilis - - - - = = = = = == = = = Ulva mutabilis

Chlorella variabilis ————————— Chlorella variabilis J

o Données bactériennes retrouvées malgré les lavages antibiotiques

Ce it idea - - - = = - - Ce
Py 7 e Chara braunii hara braunii
m 285 espéces bactériennes Kiebsormidium nitens K P
LGl C) paradoxa - - - == - - - - Cyanophora paradoxa
7C Guillardia theta - /Trsnnhr'ys/s lutea
T Emiliana huxleyi

Tisochrysis lutea /
Emiliana huxleyi /cm ysochromulina tobin
Chrysochromulina tobin ~Guillardia theta

Reconstruction des réseaux métaboliques : £

,,,,,,,, Ci okamuranus

De toutes les algues et de toutes les bactéries

Saccharina japonica - -~

. Nannochloropsis gaditana - - - - - - - gaditana
(A. Belcour, P. Hamon-Giraud, C. Lucas) Cosnarnabtssgons aananss g
Mucor circit ides - - _ - isi
% isiae =™ = = = - Mucor circinelloides _|_|'0J_®
Reference phylogeny AuCoMe dendrogram

Genome Research 2023

@Corentin Lucas, collaboration M. Stam, G. Markoy, S. Dittami, P. Hamon-Giraud, S. Blanquart (') IRISA
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8. Still new issues : discrete-continuous systems

. Short historical reminder: from observations to discoveries in life sciences
. (Identification of) dynamical systems

. Focus on the metabolic scale.

. Reasoning over discrete dynamical systems

. Knowledge representation : introduction to ASP

. More insights on ASP

. Back to biology towards more tricky problems

. Still new issues



COMPRENDRE DES CINETIQUES COMPLEXES DU METABOLISME ?

Evolution of cell biomass Diauxic shift

— Successive growth phases on
40 different mediums

— Control by regulations

=== Consumed

-
a
'
'
W
o

=== Produced

50-

o
(1/6) ssewoig

| Divided in 4 phases

— .o Characterize by different qualitative
— oz pehaviours (e.g. growth medium)

=== Oxygen

Concentration (mM)

25-

o

-0 A — Growth on Carbon1 only
I A T"iﬁe (houf;j B C g8 D B — No growth due to regulations
) C — Growth on Carbon2 only
D — No growth, no growth medium

@Keérian Thuillier, collaboration L. Paulevé, A. Bockmayr, L. Cottret, C. Baroukh (.) IRISA



MODELE SOUS-JACENT : MODELES MULTI-NIVEAUX

Gold standard instance (covert et al, 2001)

Regulatory network Toy model based on E.coli

20 reactions, 4 regulatory proteins,
RPO2 @ @ RPb 11 regulations

Model complex behaviours
Oxygen Carbon2 Carbon1 Fext

i’“ i Diauxic shift, aerobic/anaerobic growth, etc.
/ 02 l |_T°2"J_> A lTJ \

ATP

Rres il t

NADH ATP

Bl 3
-02C R2b 2 ATP
2 NADH

2 ATP 3 NADH
+ Rsa \\ 3 NADH R2a .|_r 2 ATP
TAE > P c #}3 D T4 ! 5 pext
3 NADH r !
4/ " 3E S [—peedt
Growth

¥ Rsa é
‘Hext——"_3 H G Ra
m~_ >

Metabolic network

Biomass

M. W. Covert et al., Journal of theoretical biology, 2001 (.) I R I S A

K. Thuillier et al.
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MODELE SOUS-JACENT : MODELES MULTI-NIVEAUX

Regulatory network

6

Carbon1 Fext

RPO2
Oxygen Carbon2

o

Toy model based on E.coli

20 reactions, 4 regulatory proteins,
11 regulations

Model complex behaviours

Diauxic shift, aerobic/anaerobic growth, etc.

R R1
NADH '“ ATP |—

R5b.

1ATP
3 NADH
+ Rsa ﬁ
H G R4
REb >

1 ATP
3 NADH Growth

‘- Hext——1_3,

(&

PRI
#_/

-0.2C R2b 2 ATP
2 NADH
2 ATP 3 NADH I—
+ Rsa |\ 3 NADH R

Bl

2 ATP
3D Td

_)Dexl

}\35 Te

4 NADH

10 ATP

—t—pEext

Metabolic network

Biomass

M. W. Covert et al., Journal of theoretical biology, 2001

K. Thuillier et al.

MERRIN

Regulatory

— Signafs 1.
Substrates
Metabolism ontrols
2.

Biomass

Model as two
interconnected systems

Metabolic system
Chemicals reactions converting
substrates to energy and biomass

Rules constraining the
metabolism to adapt itself to its
environment

@Keérian Thuillier, collaboration L. Paulevé, A. Bockmayr, L. Cottret, C. Baroukh

& IRISA



Two models with different dynamics

Discrete dynamics’
Regulatory _ B mnr

( ) =X Inputs Outputs
XA XxB XC xp XA XxB XC Xp
fa(xa, XB, Xc, Xp) = XB 00 00 00
0 1 X X 0 L 0 1
fc(xa, XB, Xc, xp) = Xa el c sl &l 1%
( 1)1 1110

Logical rules i .
Model (Boolgan network) Truth table (simulation)
Interactions

Steady-states approximation?
Metabolic Maximise  XGrowth ,

such that: S-x=0

- <x<u-f VreR
Dynamic flux balance analysis (dFBA)

Metabolic traces

'S. Videla et al., Bioinformatics, 2016
2M. W. Covert et al., Journal of theoretical biology, 2001

K. Thuillier et al. MERRIN

ECCB — 19/09/22

@Kérian Thuillier, collaboration L. Paulevé, A. Bockmayr, L. Cottret, C. Baroukh (.) IRISA



75~

M)

50-

Concentration (m

Several simulations approaches
Based on regulatory Flux Balance Analysis’ (dynamic + regulations)

rFBA timestep: |
1. Update the

1 synchronous update

Regulatory

XA.XB.XC,XD) = XA

(

(xa, xB, XC, XD) = xB
(xa, X8, XC, Xp) = XA
(

A

of the Boolean network
XA, XB,XC, XD) = —Xa A X

_ 2. Update the metabolic system
Interactions Solve FBA — LP problem
mMaximise  XGrowth

such that: S-x=0

Metabolic Lo f<x<u-f VreR

3. Update the cell environment

0.1

Evolution of cell biomass

'
0.2

-40

=== Consumed

=== Produced

=== Biomass
=== Carbon1
=== Carbon2

=== Oxygen

03 0.4 05 06
Time (hours)

& IRISA



UN PROBLEME D’INFERENCE : RETROUVER LES REGLES DE
REGULATION A PARTIR DES DONNEES ?

Inferring regulatory rules from time series observations

: Input:
1= = Pprior Knowledge Network (PKN)

Set of admissible interactions between components of
the regulatory network

\

v
Metabolic System

Prior Knowledge Network _Time series =» Time series data
(kinetics, fluxomics, . ) . .
L transcriptomics) Kinetics, fluxomics and/or transcriptomics
o Output:
- éla = \ => Set of consistent regulatory networks
[ mi_’\’;cmé;m i Respecting the admissible interactions
— e e ") Allowing to reproduce the input time series

Solution n°1 Solution n°2



ESPACE DE RECHERCHE : CONTRAINT PAR UN GRAPHE

D’INTERACTION A PRIORI

Regulatory System
N\

.

@ —> D—>[Td }->Dext N
\4 2
Carbon1 —@ ATP ATP Oxygen
A { Growth} Biomass To?
ATP

Only specific interactions (activations, inhibitions) between

proteins and enzymes can be used in Boolean regulatory rules

- .Carbonz \ NADH oh Y
7>|Hre§|—>
2y E—»[ Te |- >Eext
L NADH NADH

Metabolic System

Prior Knowledge Network

@Kérian Thuillier

& IRISA



ESPACE DE RECHERCHE : CONTRAINT PAR UN GRAPHE

D’INTERACTION A PRIORI
Only specific interactions (activations, inhibitions) between
proteins and enzymes can be used in Boolean regulatory rules
Regulatory System
il - R ) Prior Knowledge Network:
Set of authorised interactions: activation and inhibition effects
. J Example:
— — Regulatory rule of RPh can only depend on:
f v | T oo i Hext —— RPh — R8a - activation of Hext
Carbon1 >[7e1] | [ ap ATP Oxygen - inhibition Of R8a
R e Hext =0 RPh=0 R8a =0
L2 carvonz »{7212 NADH M A Hext = 1 RPh =1 R8a =1 6 potential Boolean regulatory rules for
. e > E—>{Te | >Eext NADHT’E_' ‘= RPh =Hext Rga—= RPh these 2 interactions
- RPh = —-R8
Metabolic System 2 rules RPL — Hexta/\ —|R8ag rules Size 02fn the search space
. — - O(2%) in the number 7, of interactions
Prior Knowledge Network JOh = Hext v ~Réa, =) d
6 rules

@Keérian Thuillier, collaboration L. Paulevé, A. Bockmayr, L. Cottret, C. Baroukh (.) IRISA



ETAT DE L’ART : NE TIENT PAS COMPTE DU METABOLISME !!!

Several inferring approaches’?

— Based on constraint programming

— Discrete modelling of the regulatory system dynamics
— Observations of the regulatory system + PKN

PKN

-

Observations

Regulatory S\ a

{ Set of regulatory networks that
verify time series data

Infer the regulatory systems

@Kérian Thuillier




Si on oublie le métabolisme: décrire la réponse combinatoire d’un modéle

Number

1

tnfa

O 0 N 0O uhd W N

=
[e]

-
™

¥ £

Phosphoproteomic data

a &

Domain knowledge

Goal. Explain individual data

Patient - AP1 =0
Patient 1 SOS AP1 ++
» Propagation of regulations Patient 2 0i3K 538 =0

among a discrete system

> Common hidden mutation Genomics (inter-individual data)

Santiago Videla, Avec T. Schaub, C. Guziolowski, S. Thiele

IRISA



Reformulating the inference problem

Mathematical problem: Optimize ©,,((V, ¢) + 0.104,((V, ¢))

1st objective (€ R). difference between observations and predictions > Local mln | ma
Ors((V, 8), (P, .. Pn»—z >« 2w, - mw, F » No global
N~~~ .
n experiments i=1 ve&dom(P;) observatlonsE[O 1]  predictions€ {0,1} enumeratlon
2nd objective (€ N). model complexity > NO data n0|se
Oue((ViO) = ) l¢(v)]
vEdom(¢)

Impact of data discretization
on the solutions of the optimization problem

Computing all sub-optimal solutions
to a combinatorial multi-optimization problem = ASP encoding

~~ ~
Structure Fitting Noise tolerance Parsimony Size tolerance

(V,®) € Myv, E,o) | Scorerss((V, ¢), Exp_Data) < (1 + 10%) min Scorerss and Scoregize((V, ¢)) < min Scorerss + 2
N——— -

@ IRISA

Videla, et al, Journal of Theoretical Computer Science, 2015



Network identification from two time points

A (0.01%) B (99.99%)

B(84%)

B(88%)

TIES
p38

B(90%)

Within the search space of 287 models,
exactly 5306 boolean models explain equivalently
well the 2009 Dream challenge data.

~
Videla, et al, Journal of Theoretical Computer Science, 2015 () I R I S A
Guziolowski et al, Bioinformatics, 2013



Boolean network inference from time-series data

Main limitation:
ASP is not a model-checker: finite trajectories only.
> How to take dynamical traces into account ?

Ui i1 Uy i—1 Stimuli I+hibitors sXpetr)ime”t
IE] = n if Ixeu:fix)#a umber
Uivt.n Uist..n : - — 1
Example 2
fi(X) = X2 V x5 [1] K 3
f(x) = xi o | == [oJ1] | == | [o[t a
0 u 0 5
f3(X) =-XoV X3 —
1 ﬁ °
1] 1 7
0 = 0f1 8
0 | 1 01 =}
- 10
8§ 1F
» Abstraction of logical states with meta-states
» A posteriori-filtering with model-checkers
Paulevé et al, CMSB 2015 & Biosystems 2016 Q.) IR S A

C. Guziolowski, L. Paulevé, M. Ostrowski, T. Schaub



RETOUR AU PROBLEME DU METABOLISME

PKN

Observations

?

% p

Could not model metabolic
system

Regulatory

EEE) &

[ Metabolic ]

@Kérian Thuillier & IRISA



RAPPEL Inferring problem —in a nutshen

Inputs:
3D >rarDext
;Lmi,& o A . Set of authorised interactions: activation and
I i % . inhibition effects
\ NADH EizehEext NADH
—
Metabolic network \/ Hext RPh |, Réa
Hext =0 RPh=0 R8a =0 36 compatible
] ) Hext=1 RPh=1 R8a =1 regulatory networks
Pair of successive RPh = Hext - Rga — RPh
. RPh = —R8a
observations of: RPh = Hext A —R8a
© 1. Metabolic fluxes V) RPh = Hext V -R8a
2. Substrate )
"7 3. Regulatory state U n
O(22") in the number M of interactions

Set of time series {T;}; Prior Knowledge Network (PKN)

(kinetics, fluxomics, transcriptomics) Define a search space F

Outputs:
All the Boolean networks f € F such that there is a rFBA simulations
matching the input time series {7;};

@Kérian Thuillier & IRISA



Inferring problem — formal definition

Input: metabolic network N/, search space F, set of time series {T}};

Output: all Boolean networks [ € such that:

AN

Boolean constraints
fla) =a
1; (s,s")eT;

AJdb e RReactions’ S .9

o I s !
0A /\ ly -2 < Op <up -2y A Ugrowth > Ygrowth — 6)

reReactions

P al 7) 1 J '/ 0 [ !
0A /\ by - < 0p <y - "Lr) = Ugrowth < Ugrowth Te

rcReactions

AVDO € RRC&CtiOnS’ S0

Quantified linear constraints

Hybrid problem: combinatorial + quantified linear constraints

@Kérian Thuillier & IRISA



Resolution framework
MERRIN - published at ECCB22

Metabolic network

Linear
constraints
LP Model

LP
constraints
verified ?

N
QS
all

constraints
verified ?

Core

=

d
A/ \
\
Time series data
(kinetics, metabolomics,
transcriptomics, proteomics,

Prior Knowledge
Network (PKN)

}

Combinatorial
constraints
ASP Model

e

fluxomics)
Compression and
binarization

—>

Discretized
time series data

Regulatory
network
candidate

> ASP

constraints
verified ?

)
Yes 39
accept candidate| W

Update
Search
space

Problem solving

et of regulatory networks that
b ATy

Based on the conflict driven clause
learning algorithm and satisfiability
modulo theory? methods

Input
€
ASP

0 Send candidate rules

—
—

Accept or
Reject and generate new
ASP constraints

Solve a FBA
LP e and check if it
Solver match the

observations

Solver

¥

Output

New constraints (nogoods) are generated
for each conflict

e Generalisation of conflicts

e Reduce the number of call to the LP solver

1 CDCL: ). P. Marques-Silva and K. A. Sakallah, IEEE Transactions on Computers, 1999

2SMT: C. Barrett and C. Tinelli, Handbook of model checking, 2018

Thuillier et al, Bioinformatics 2022 — ECCB 2022. (& IRISA



Validation and robustness testing

Regulatory network Learn more parsimonious model
@ @ @ \ than ground truth
e Reproduce exactly the input time series
oxy Fext e Unrecovered regulations can be explained
/ *T ] J
S T #’E- Validation on a benchmark of 240
B —) B M . ege
Jgec 4 k 2 AT Instances (in silico)
ZAT:D 145 Dext ® 4 data types

1ATP

“":“"" /:_/ W\,’—ullm e 6 level of degradations (0% to 50%)

= He: xt_

1 ATP
3 NADH (€t

Perfectly reproduce the time series with:

Metabolic network e kinetics and transcriptomics data
Blomass e <20% of degradation

@Kérian Thuillier & IRISA
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Bunch of conclusions



TAKE HOME MESSAGE

Life sciences are becoming a data-science....

But they cannot be adressed with usual complex system technics.

- Curated and reliable dynamical models are difficult to obtain (Large-scale data, lacks of knowledge
and information)

Our strategy: explore and integrate data with discrete abstractions
- Favor combinatorial optimisation problems to gain in robustness
- Use boolean abstractions of the dynamics (minimal fixed-point)

ASP technologies allow for a scalable reasoning on data and networks
(Win-win collaboration with your BFF ASP-tech developers)

New discoveries in life science may result rather from inconsistencies between knowledge and data
(abduction) than from data-science technics.

& IRISA



ANSWER SET PROGRAMMING

K { atomy; ...; atomp, } L - atomu.i;...; atom,; notatom,ii; ..., not atoms.
N J/ N J/

h;;d "smiley” b;ay
High-level model language
- Propositional logics
- Model for negation: everything is false a priori Optimisation rule

- Reasoning modes: enumeration, union, intersection of solutions  #maximize{W,atom(X): condition(X),W}.

- Optimisation

Highly performant solving technics

- SAT-based and deductive-DB technics
- Decidable: no infinite loop

Problem statement
& modelling

&:IRISA

@ N2
LD

'3
e
. ‘Pq’a

Solving heuristics

Linear constrains atoms
&sum{a1*x1;...;al*xl} <= k

ASP programs never scale...
... until they do scale thanks to specific heuristics

Repair large-scale interaction graph with branch and bound

Scale metabolic network gap-filling problem with unsatisfiable core
[LPNMR’13]

Design experiments with incremental solving
Implement and benchmark constraints propagators

& problem reformulation

& IRISA



REASONING IN LIFE SCIENCES iser " Four domains o Big Data in 2025

COMPLEXITY complexity vs quantity

(inspired by [Ste2015]) _
Heterogeneity

Incompleteness

Life sciences and systems biology are a wonderful playing field
- For new dynamical modeling frameworks (competitions...) graniaiy
- For new knowledge representation and reasoning paradigms ner TwirTeR e

dependencies

ASTRONOMY

QUANTITY
17 PB/year 1-2 EB/year 40 EB/year

Addressing the data nightmare in life sciences ?

- Machine learning/deep learning approaches : inductive reasoning, correlations

- Biology is also/mainly interested in causalities, knowledge discovery, and hypothesis formulation,
leading to inconsistencies... and new theories.

- Produce hypotheses rather than replacing biologists by in silico models

Hypothesis...
- Life sciences = priviledged field to experiment new theories of abductive reasoning applied to large-

scale data ?
- Do no forget dynamical systems behind...

& IRISA



PLACE DES ERREURS DANS LES PREDICTIONS

Proposed after automatic workflow Proposed after manual curation

Méthode(s) in silico pour boucher les trous
dans les cartes

GorisTate

Crorismetemutzse POSTE

ES0002 0121 (PWTIPTG), Chorismate mutase:

EEDED) E60002 0121

@EEED)
————  Prephenct

Prephenatedehydratase  H*

50000, 0583 (PWTTHMM) Prephenzte
GRELD e (wor)
@,

7 e
Synthése de la tyrosine chez E. siliculosus : &S T
gene absent mais compréhension du du réle &5 L o o L

£40298 0018
~ &
(I preysanne <

bifonctionnel d’'une enzyme

Added to EctoGEM by Meneco
No gene found

. %
> ¥ CCBLD

Voie de synthése de la coenzyme A : nécessite de la beta-alanine et du pantoate

,

B R

|
]
i
g

| ﬂ@i

b

W By

o,
q"V"/ 8,
)
e,
32

...........

eeeeeeee

nnnnnnnnnn

aaaaaaaaaaa

AAAAAA

aaaaaa

mmmmm

mmmmmmmm

Arrows: bifunctional enzymes

» Lalgue sait produire le pantoate... mais n’a pas le géne prédit in silico pour produire la beta-alanine
» Ce geéne est présent chez une bactérie symbiotique rescapée de la phase d’axénisation > Holobionte !

Ajout de 3 bactéries
prédites in silico

Sans microbiote

Condition axénique

Identification de candidats (inexacts) pour faire progresser la connaissance

7
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Programmation par ensembles-réponses: un peu de sémantique
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Ensemble-réponse dans le cas de programmes positifs

PROGRAMME POSITIF

Un programme positif est constitué d'un ensemble de régles (clauses définies)

A = By;Bs;...Bn.
——
tete corps

ol A (la téte de la régle) et les B (le corps) sont des atomes (variables booléennes)

A :- Bi1;By;...B,. correspond a la formule =By V =B, V =V =B, V A

Les programmes positifs sont des clauses disjonctives avec exactement un atome positif.

ENSEMBLE CLOS D'UN PROGRAMME POSITIF

Un ensemble d’atomes X est clos pour un programme positif P si
pour toute régle r du programme P, corps(r) C X — téte(r) C X

C’est un modéle du programme vu comme une formule.
ENSEMBLE-REPONSE

L’ensemble réponse Cn(P) (answer set) d’un programme positif P est le plus petit ensemble
d’atomes qui soit clos pour P. Il existe et est unique.
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Exemple 1

Vérifier que pour toute régle r, on a bien  corps(r) C X = téte(r) C X

PROGRAMME
a :- b;p;q.
b :- q.

LISTE DES SOUS-ENSEMBLES D’ATOMES
{abpa}. {abp}. {aba}, {apa}, {bpa}, {ab}, {ap} {aa}, {bp}, {ba} {pa}, {a} {b} {p}. {a} 0.

SOUS-ENSEMBLES CLOS Question: quels sont-ils ?

{abp.q}, {a.b,p}, {abg}, NONCLOS{a,p,q}, NONCLOS{b,p.q},
{ab}, {ap}, NONCLOS{aq}, NONCLOS{bp},
{bq}, NONCLOS{pq}. {a}. {b}. {p}, NONCLOS{q}, 0.

QUEL EST L’ENSEMBLE-REPONSE DU PROGRAMME ?

L’ensemble-réponse du programme est I'’ensemble vide ()
— Le programme ne contient que des implications, et rien n'est "vrai".

Tout ce qui n'est pas prouvé par un fait est considéré comme faux!
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Exemple 2

Vérifier que pour toute régle r, on a bien  corps(r) C X = téte(r) C X

Programme
a :- b;p;q.
b :- q.

q.

LISTE DES SOUS-ENSEMBLES D’ATOMES
{abpa}, {abp}, {aba}, {apa}, {bpa} {ab}, {ap}, {aq}, {bp}, {ba}, {pa}, {a} {b}. {p} {a} 0.

LISTE DES SOUS-ENSEMBLES CLOS 7

{ab.,p.a}, NONCLOS{a,bp}, {a,b,g}, NONCLOS{a,p.q}, NONCLOS{b,p.q}, NONCLOS{a,b}, NONCLOS{a,p},
NONCLOS{a,q}, NONCLOS{b,p}, {b,q}, NONCLOS{p,q}, NONCLOS{a}, NONCLOS{b}, NONCLOS{p}, NONCLOS{q},
NONCLOS 0.

— Comme () est contenu dans un corps, g doit étre contenu dans tous les sous-ensembles clos.

QUEL EST L’ENSEMBLE-REPONSE?
L’ensemble réponse du programme est {b,q}

— On n’a pas gardé p puisqu’on n'a aucune preuve de p.

Les atomes d’un ensemble-réponse d’un programme positif apparaissent dans la téte d’au moins
une régle
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Programmes avec une négation ?

PROGRAMME "QUELCONQUE”

Un programme est constitué de maniére plus générale d'un ensemble de regles

r: A :-Bi; By;...By not Byi1; not Byia; ... not Byyp.
N—_——
tete corpsT (r) corps™ (r)

REDUIT PAR RAPPORT A UN ENSEMBLE

Le réduit d'un programme par rapport a un ensemble d'atomes X est |'ensemble des régles de la
forme

r: téte(r) :- corps™(r).  pour tout régle r telle que corps™(r) N X = (.

IDENTIFICATION
@ On choisit un sous-ensemble d’atomes X

@ On ne garde que les régles r : A := By; By; ... Bp pour lesquelles aucun des

Bm+i1, Bmi2, . .. Bmin n'appartiennent a X.
EXEMPLE a :- b; not q. b:- p; q. p-

@ Exercice: calculer le réduit du programme par rapport a { q }
b:- p; q.
P-

@ Exercice: calculer le réduit du programme par rapport a { a }
a :— b.
b:- p; q.
p.
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"Not": ensemble-réponse

ENSEMBLE-REPONSE

Un ensemble réponse (modéle stable) d’un programme P est un sous-ensemble X d'atomes tel que
@ X est clos pour le programme obtenu comme réduit de P par rapport a X.
@ X est stable: X est égal a I’ensemble-réponse de son programme réduit.

@ X est minimal pour l'inclusion parmi tous les ensembles clos et stables.

REMARQUE

@ |l faut d'abord réduire le programme par rapport a X et ensuite vérifier que ce qu'on obtient
est clos vis a vis de X.

@ |l peut y en avoir 0, 1 ou plusieurs.

CONTENU D’UN ENSEMBLE-REPONSE
Un modéle contient I'atome d'une téte de régle

@ si la régle est un fait (régle réduite a une téte) aprés en avoir enlevé les littéraux négatifs qui
ne sont pas dans le modéle

@ ou si tous les littéraux positifs du corps sont dans le modéle et aucun des littéraux négatifs.
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Exemple 1
p:- p. Qq:- not p.

ENUMERER LES SOUS-ENSEMBLES X D’ATOMES.

{p.a}, {p}, {a}, 0.

POUR CHACUN, CALCULER LE REDUIT.
@ {p,q}. Réduit: ? p:-p.
o {p}. Réduit: ? p:-p.
o {q}. Réduit: ? p:-p. q.
@ (. Réduit: ?  p:-p. q.

POUR CHAQUE REDUIT, CALCULER L'ENSEMBLE CLOS MINIMAL
@ {p,q}. Réduit: p:-p. . Ensemble clos minimal? ()

o {p}. Réduit: p:-p.  Ensemble clos minimal?

@ {q}. Réduit: p:-p. q. Ensemble clos minimal? {q}

@ (). Réduit: p:-p. q. Ensemble clos minimal? {q}
GARDER LES CLOS STABLES MINIMAUX

Ensembles-réponses ? {q}
(c’est le seul ensemble qui est égal a I'’ensemble-réponse de son réduit.)
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Exemple 2
p:- not q. q:- not p.

ENUMERER LES SOUS-ENSEMBLES X D’ATOMES.

{p.a}, {p}, {a}, 0.

POUR CHACUN, CALCULER LE REDUIT.
@ {p,q}. Réduit: ?— 0
@ {p}. Réduit: ? — p.
o {q}. Réduit: ? — q.
@ (). Réduit: ? — p. q.

POUR CHAQUE R}:DDL‘I'I‘, CALCULER L'ENSEMBLE CLOS MINIMAL

o {p,q}. Réduit: programme vide . Ensemble clos minimal? rien
@ {p}. Réduit: p.  Ensemble clos minimal? {p}
@ {q}. Réduit: q. Ensemble clos minimal? {q}

@ (. Réduit: p. q. Ensemble clos minimal? {p,q}

GARDER LES CLOS MINIMAUX
Ensembles-réponses ? {p}, {q}
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Exemple 3

p:- not p.

ENUMERER LES SOUS-ENSEMBLES X D’ATOMES.

{r}, 0.

POUR CHACUN, CALCULER LE REDUIT.
° {p,q}. =0
o . - p.

POUR CHAQUE I{EDUIT, CALCULER L’ENSEMBLE CLOS MINIMAL

@ {p,q}. Réduit: programme vide . Ensemble clos minimal? rien

@ (. Réduit: p. Ensemble clos minimal? {p}

GARDER LES CLOS MINIMAUX
Ensembles-réponses ? Aucun: il n’y a pas d’ensemble stable !
A RETENIR

Un ensemble réponse contient des atomes se trouvant dans une téte de régle du programme.
Tout élément d’un ensemble réponse est supporté par une regle.

LOGIQUE NON MONOTONE Rajouter des faits a une théorie peut faire réduire I'ensemble de
conclusions.
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